EMPORIA STATE U N I V E R S I T Y

CONTRACT RENEWAL

Renewal Date:	September 22, 2021
Renewal Number:	2
Contract Number:	E00048
Notices To:	Vice President for Administration and FinanceWith CC: To:Purchasing Office Emporia State UniversityEmporia State University1 Kellogg Circle1 Kellogg Circle1 Kellogg CircleCampus Box 4001Emporia, KS 66801
Emporia State University Purcl Telephone: E-Mail Address: Web Address:	hasing Office 620-341-5134 <u>purchaseorders@emporia.edu</u> <u>http://www.emporia.edu/</u>
Item:	Janitorial Supplies & Consultation Services
Agency:	Emporia State University
Location(s):	Emporia, KS 66801
Term of Contract:	October 1, 2021 through September 30, 2023 (with the option to renew for one (1) additional two (2) year period)
Contractor: Notices to:	Pur-O-Zone, Inc. Mark McFarland, Education Market Director 218 E 2 nd Street Hutchinson, KS 67501 Phone: 844 320-6123 or 620-259-4323 Cell: 316-644-2223 Email: mmcfarland@purozone.com
Pricing:	As set forth in the Pricing Sheet attached to Contract Renewal No. 2 between Emporia State University and Pur-O-Zone, Inc.
Payment Terms:	Net 30
Political Subdivisions:	Pricing is available to the political subdivisions of the State of Kansas.

ESU Contract No. E00048, Renewal 2

This Contract Renewal which is made and entered into this 22nd day of September, 2021, by and between Emporia State University ("ESU"), a public institution of higher education and State of Kansas agency, located in Emporia, Kansas and Pur-O-Zone, Inc. By this renewal, ESU hereby expressly exercises the second option to renew Contract Number E00048 for **Janitorial Supplies & Consultation Services**. Except for the revised Pricing Sheets attached hereto, all other terms and conditions of Contract E00048 are hereby expressly renewed by the parties for two years, which shall remain in full force and effect until September 30, 2023.

In the event of a conflict of terms in terms of language among the documents, the following order of precedence shall govern: 1) Form ESU-146a; 2) mutually agreed and signed written modifications; 3) this executed contract; 4) Contract No. E00048; 5) any supporting manuals/documents incorporated in the Request and contract; and 6) Contractor's written proposal submitted in response to RFP number 002-18.

IN WITNESS WHEREOF, ESU and Pur-O-Zone, Inc. hereby enter into this Contract Renewal:

Contractor: N Pur-O ₅ Zone, In	IC.	Agency:	Emporia State University
By:		By:	Diana C. Kuhlmann
Printed Name: Mark M&F.	erprod	Printed Name:	Diana E. Kuhlmann
		Title:	Vice President for Administration and Finance

The competitive bid/procurement policies applicable to ESU have been followed:

By: <u>Debbie Redeker</u> ESU Purchasing

.

<u>Ashley Brandt</u> ESU Purchasing

ATTACHMENT I to Contract No. E00048 Manufacturer's Discount Schedule

PRODUCT LINE	MANUFACTURER	DISCOUNT OFF MANUFACTURER'S LIST PRICE
BODY WASH/SHAMPOO		
prolinkhq.com	Pro-Link	30%
gojo.com	GoJo	30%
CARPET CLEANING PRODUCTS		
prolinkhq.com	Pro-Link	25%
DEGREASERS/CLEANERS		
purozone.com	Pur-o-Zone, Inc.	30%
prolinkhq.com	Pro-Link	30%
enviroxclean.com	Envirox	20%
FLOOR CARE PRODUCTS		
purozone.com	Pur-O-Zone, Inc.	25%
ultra-chem-labs-corp.busienss.site	Ultra-Chem	15%
essind.com	Essential	20%
FLOOR MATS		
matsinc.com	MatsInc.	20%
mamatting.com	M + A Matting	20%
	Gator Matting	20%
FLOOR/HAND PADS		
solutions.3m.com	3M	25%
GENERAL CLEANING EQUIPMENT & REI		
prolinkhq.com	Pro-Link	30%
rubbermaidcommercial.com	Rubbermaid	25%
impact-products.com	Impact Products	25%
	Unger	25%
HAND CARE PRODUCTS		
prolinkhq.com	Pro-Link	30%
gojo.com	GoJo	30%
LAUNDRY PRODUCTS		
sunburstchemicals.com	Sunburst	15%
MOPPING EQUIPMENT & RELATED ACC	ESSORIES	1
rubbermaidcommercial.com	Rubbermaid	25%
impact-products.com	Impact Products	25%
prolinkhq.com	Pro-Link	25%
P	Unger	25%
		==,,,

ATTACHMENT I to Contract No. E00048 (cont.) Manufacturer's Discount Schedule

ODOR COUNTERACTANTS/AIR	FRESHNERS	
prolinkhq.com	Pro-Link	30%
POLISHES		
purozone.com	Pur-O-Zone, Inc.	30%
RESTROOM CARE PRODUCTS		
prolinkhq.com	Pro-Link	30%
purozone.com	Pur-O-Zone, Inc.	30%
impact-products.com	Impact Products	25%
SANITIZER/DISINFECTANTS		1
purozone.com	Pur-O-Zone, Inc.	30%
enviroxclean.com	Envirox	20%
cloroxpro.com	Clorox	20%
	DLS, ICE MELT, SEWER PRODUCTS, ETC.	\ \
scotwoodindustries.com	Road Runner Ice Melt	25%
prolinkhq.com	Pro-Link Aerosols	30%
purozone.com	Pool & Spa Products	15%
UTILITY/NON-STERILE GLOVES		
hospeco.com	HOSPECO	30%
EQUIPMENT		
advance-us.com	Advance Battery Equipment	15%
advance-us.com	Advance Electric Equipment	20%
advance-us.com	Advance Parts	10%
advance-us.com	Advance Autonomous	2%
nobles.com	Nobles Battery Equipment	15%
nobles.com	Nobles Electric Equipment	20%
nobles.com	Nobles Parts	10%
kaivac.com	KaiVac Equipment	15%
hillyard.com	Trident Battery Equipment	15%
hillyard.com	Trident Electric Equipment	20%
hillyard.com	Trident Parts	10%
tornadovac.com	Tornado Battery Equipment	15%
tornadovac.com	Tornado Electric Equipment	20%
tornadovac.com	Tornado Parts	10%

ATTACHMENT II to Contract No. E00048 Quotation for Janitorial Supplies

ITEM #	COMMODITY DESCRIPTION	<u>U/M</u>	UNIT PRICE
MAGNUM2-05	Magnum Floor Stripper 5 gallon pail	5GAL	\$ 66.95
MAGNUM2-01	Magnum Floor Stripper 1 gallon	GAL	\$ 15.55
LQFC425K	Tersano Aqueous Ozone Generator	Each	\$ 3,050.00
LCA114K	Tersano Filter Module	Each	\$ 225.00
KAIBLOOEY-01	Restroom Cleaner 4gal/case	Case	\$ 84.35
KAIDRI-01	Rinse Aid 4gal/cs	Case	\$ 103.77
KAIBOSH-01	Kaibosh Disinfectant Cleaner	Case	\$ 91.61
UWMP	Universal Wet Microfiber Pad 5/cs	Case	\$ 22.39
1904-02	Purell Hand Sanitizer 1200ml 2/cs	Case	\$ 65.26
26824	Solaris Toilet Tissue 1500 sheet/roll 18/cs	Case	\$ 33.80
11513	Solaris Facial Tissue 100/box 30/cs	Case	\$ 18.11
HB1995A	Tork Kitchen Roll Towel 2-Ply 210 sheet/roll 12/cs	Case	\$ 27.59
46902	Solaris Roll Towel 1000' roll 6/cs	Case	\$ 37.75
105065	Peakserve Continuous Towel 4920/CS	Case	\$ 42.00
12021502	Toilet Tissue ADVC JUMBO T12 ply 1600' 6/CS	Case	\$ 29.00
BTK4348SH	43x48 Black 55 gal Liner 100/cs	Case	\$ 29.44
BTK3340XMP	33x40 Black 33 gal Liner 100/cs	Case	\$ 15.06
BSN082424	24x24 Clear 7-10 gal Liner 1000/cs	Case	\$ 26.67
30613	Clorox Crème Cleanser 8 qt/cs	Case	\$ 43.57
138-12Q	Envirox Mineral Shock 12 qt/cs	Case	\$ 82.64

Hillyard Emporia State University Contract Price List

	Hillyard Emporia State University Contract Price List							.
		67		_	~~~	Gal	Unit	Date
Material	Description	SZ	UOM		CS	Price		Eff
	DETERGENT LDRY HD POWDER 40 LB PAIL			Ν		148.29	148.29	
	CLEANER FLOOR BRITENZ-IT BULK		1 GAL	Ν	- 4	28.97	115.88	
	CLEANER FLOOR BRITENZ IT 2/2.5 PER CS		5 GAL		EA		73.65	
	STRONG GUARD PRIMER		1 GAL	Ν	4		106.08	
	STRONG GUARD PRIMER		5 GAL		PL	26.03	130.13	
	STRONG GUARD FINISH 1.5 GAL	1.	5 GAL		EA		120.49	
HIL22301	DISPENSER 1 PRODUCT 4 GAL BRIGHT GAP			Ν	1		117.24	
HIL22302	KIT DISP PRODUCT 4GPM AND RACK			Ν		107.14	107.14	
HIL56000	NANO SWEEP TRIDENT NS13 13IN LI BTTY			Ν		262.11	262.11	
HIL56001	SCRUB NANO MOP TRIDENT NM14 14IN LI BTTY			Ν		1631.1	1631.1	
HIL56002	SCRUB WB DISC TRIDENT B16SC 16IN BTTY			Ν		3524.28	3524.28	9/1/2021
HIL56003	SCRUB WB DISC TRIDENT B20SC 20IN BTTY			Ν		4276.11	4276.11	9/1/2021
HIL56004	SCRUB MINI 13IN TRIDENT XM13 SC LI BTTY			Ν		2475.45	2475.45	9/1/2021
HIL56005	SCRUB WB DISC TRIDENT T20SC PRO 20IN BTY			Ν		6534.12	6534.12	9/1/2021
HIL56006	SCRUB WB TRIDENT T20SC PRO ORB 20IN BTTY			Ν		6837.74	6837.74	9/1/2021
HIL56007	SCRUB DUAL DISC TRIDENT T26SC PLUS 26IN			Ν		7970.28	7970.28	9/1/2021
HIL56008	SCRUB RIDE ON TRIDENT R22SC ORB 22IN BTY			Ν		8204.75	8204.75	9/1/2021
HIL56009	SCRUB RIDE DISC TRIDENT R30SC 30IN BTTY			Ν		13490.5	13490.5	9/1/2021
HIL56010	SCRUB RIDE DISC TRIDENT R22SC 22IN BTTY			Ν		7691.95	7691.95	9/1/2021
HIL56011	SCRUB RIDE DISC TRIDENT R30SC PLUS 30IN			Ν		15850.11	15850.11	9/1/2021
HIL56012	SCRUB RIDE TRIDENT R28SC PLUS ORB 28IN			Ν		16861.81	16861.81	9/1/2021
HIL56013	SCRUB RIDE CYL TRIDENT R36SS PLUS 36IN			Ν		28151.91	28151.91	9/1/2021
HIL56015	BLOWER TRIDENT FD15 ELECTRIC			Ν		381.22	381.22	9/1/2021
HIL56018	VAC WET DRY TRIDENT WD21V 21 GAL			Ν		853	853	9/1/2021
HIL56019	FLOOR MACH ORB TRIDENT FMD20 20IN ELCTRC			Ν		2283.55	2283.55	9/1/2021
HIL56020	SCRUB RIDE DISC TRIDENT R36SC PLUS 36IN			Ν		27125.54	27125.54	9/1/2021
HIL56021	FLOOR MACH DSC TRIDENT FMD20 20IN ELCTRC			Ν		1334.29	1334.29	9/1/2021
HIL56022	BURNISHER TRIDENT BU1500 20IN ELECTRIC			Ν		1644.04	1644.04	9/1/2021
HIL56026	TRIDENT R26SC PLUS	1.5	9 M3	Ν	EA	8434.65	13444.84	9/1/2021
HIL56027	TRIDENT R26SC PRO	1.5	9 M3	Ν	EA	6954.13	11084.89	9/1/2021
HIL56028	TRIDENT T28SS PRO	2.3	2 M3	Ν	EA	5596.01	12960.37	9/1/2021
HIL56030	SCRUB WB TRIDENT XM14SC 14IN BTTY					3769.32	3769.32	
HIL56031	SCRUB WB TRIDENT XM17SC 17IN BTTY					4289.21	4289.21	9/1/2021
HIL56032	SCRUB WB TRIDENT XM17SC ORB 17IN BTTY					4289.21		

HIL56080	TRIDENT VACUUM V12S 12IN		Ν	529.69	529.69	9/1/2021
HIL56081	TRIDENT VACUUM V12XP 12IN		Ν	587.56	587.56	9/1/2021
HIL56082	TRIDENT VACUUM V14D 14IN TWO MOTOR		N	729.99	729.99	9/1/2021
HIL56083	TRIDENT VACUUM V18D 18IN TWO MOTOR		N	957	957	9/1/2021
HIL56084	TRIDENT EXTRACTOR EX7 7 GALLON		N	3112.81	3112.81	9/1/2021
HIL56085	TRIDENT EXTRACTOR EX8 8 GALLON		N	3368.99	3368.99	9/1/2021
HIL56086	TRIDENT EXTRACTOR EX12 12 GALLON		N	4177.81	4177.81	9/1/2021
HIL56087	TRIDENT EXTRACTOR EX20 20 GALLON		N	8376.54	8376.54	9/1/2021
HIL56088	TRIDENT EXTRACTOR MINI MS2 2 GALLON		N	855.54	855.54	9/1/2021
HIL56089	TRIDENT CARPET CLEANING MACHINE ICS17		N	2692.29	2692.29	9/1/2021
HIL56090	TRIDENT UPRIGHT VACUUM V15XP 15IN	1.24 HL	EA	591.95	736.39	9/1/2021
HIL56091	TRIDENT UPRIGHT VACUUM V15S 15IN	1.24 HL	EA	517.61	643.91	9/1/2021
HIL99248	TRIDENT CC17 RECOVERY UNIT		N	716.03	716.03	8/2/2021
HIL99725	DEFCON 2D DEMONSTRATION CART		N	257.14	257.14	9/1/2021
	CLEANERS					
	5 SUPROX CONCENTRATE	1 GAL		22.07	88.28	9/1/2021
	SUPROX CONCENTRATE	55 GAL	DR	21.39	1176.27	9/1/2021
	SUPROX CONCENTRATE	15 GAL	EA		303.77	9/1/2021
	3 SUPROX CONCENTRATE	30 GAL	EA		607.56	9/1/2021
	SPRAY CLEAN HD	1 GAL	4	12.35	49.4	9/1/2021
	SPRAY CLEAN HD	55 GAL	DR	11.76	646.53	9/1/2021
	GLASS AND PLASTIC CLEANER	1 GAL	4	9.25	37	9/1/2021
	GLASS AND PLASTIC CLEANER	55 GAL	DR	8.53	469.07	9/1/2021
	CLEANER ROBUSTO LAVENDER MULTI-PURPOSE	1 GAL	N 4	9.28	37.12	9/1/2021
	CLEANER ROBUSTO LAVENDER 5 GAL PAIL	5 GAL	N PL	9.12	45.6	9/1/2021
	WINDO-CLEAN+	QT	12	6.71	80.52	9/1/2021
	WINDO-CLEAN+	1 GAL	4	21.98	87.92	9/1/2021
	WINDO-CLEAN+	55 GAL	DR	21.38	1175.67	9/1/2021
HIL0014004	SUPER SHINE-ALL CLEANER	QT	12	5.48	65.76	9/1/2021
HIL0014006	5 SUPER SHINE-ALL CLEANER	1 GAL	4	15.62	62.48	9/1/2021
	SUPER SHINE-ALL CLEANER	5 GAL	PL	15.23		9/1/2021
	SUPER SHINE-ALL CLEANER	55 GAL	DR	15.03		9/1/2021
	6 CITRUS-SCRUB	1 GAL	4	27.27	109.08	9/1/2021
	CITRUS-SCRUB	5 GAL	PL	27.01	135.04	
HIL0014309	CITRUS-SCRUB	55 GAL	DR	25.69	1413.11	9/1/2021

HIL0014406	TOP CLEAN	1 GAL		4	7.61	30.44	9/1/2021
HIL0014407	TOP CLEAN	5 GAL		PL	7.15	35.76	9/1/2021
HIL0014409	TOP CLEAN	55 GAL		DR	6.92	380.86	9/1/2021
HIL0015306	ASSURANCE	1 GAL		4	12.82	51.28	9/1/2021
HIL0015307	ASSURANCE	5 GAL		PL	12.41	62.07	9/1/2021
HIL0015309	ASSURANCE	55 GAL		DR	12.21	671.49	9/1/2021
HIL0015328	ASSURANCE	30 GAL		EA		366.28	9/1/2021
HIL0015606	SUPER GREASE BUSTER	1 GAL		4	15.3	61.2	9/1/2021
HIL0015607	SUPER GREASE BUSTER	5 GAL		PL	14.88	74.42	9/1/2021
HIL0015609	SUPER GREASE BUSTER	55 GAL		DR	14.68	807.63	9/1/2021
HIL0015706	MRD 2 MEAT ROOM DEGREASER	1 GAL		4	10.13	40.52	9/1/2021
HIL0015707	MRD 2 MEAT ROOM DEGREASER	5 GAL		PL	9.73	48.67	9/1/2021
HIL0015709	MRD 2 MEAT ROOM DEGREASER	55 GAL		DR	9.54	524.45	9/1/2021
HIL0015711	MRD 2 MEAT ROOM DEGREASER	275 GAL		TOT	9.41	2588.29	9/1/2021
HIL0045206	PRE-GAME	1 GAL		4	11.42	45.68	9/1/2021
HIL0096006	GREEN SELECT GLASS CLEANER	1 GAL		4	11.58	46.32	9/1/2021
HIL0096606	GREEN SELECT DEGREASER CLEANER	1 GAL		4	17.88	71.52	9/1/2021
	RESTROOM PRODUCTS						
	HCL-145 TOILET BOWL CLEANER QTS	QT	N	12	3.01	36.12	9/1/2021
	GERMICIDAL BOWL CLEANER QTS	QT	N	12	2.67	32.04	9/1/2021
	GERMICIDAL BOWL CLEANER GAL	1 GAL	Ν	4	10.23	40.92	9/1/2021
	LIGHT ACID BOWL CLEANER QTS	QT	N	12	2.31	27.72	9/1/2021
	LIQUID SWABBY II BOWL CLEANER QTS	QT	Ν	12	2.59	31.08	9/1/2021
	LIQUID SWABBY II BOWL CLEANER GAL	1 GAL	Ν	4	10.09	40.36	9/1/2021
	SUPROX RESTROOM CLEANER WITH INSERT	1 GAL	Ν	4	25.4	101.6	9/1/2021
	CREME CLEAN QTS	QT	Ν	12	3.16	37.92	9/1/2021
	M80 BOWL CLEANER QTS	QT	Ν	12	2.63	31.56	9/1/2021
	SUPROX READY-TO-USE	1 GAL	Ν	4	16.29	65.16	9/1/2021
	THICKENED NON ACID BATHROOM CLEANER QTS	QT	Ν	12	2.9	34.8	9/1/2021
	MILD BOWL AND PORCELAIN CLEANER QTS	QT	Ν	12	3.27	39.24	9/1/2021
	MILD BOWL AND PORCELAIN CLEANER 15GAL PL	15 GAL	Ν	PL	12.44	186.57	9/1/2021
	EXTRA STRENGTH CSP CLEANER	QT		12	6.12	73.44	9/1/2021
HIL0012506	EXTRA STRENGTH CSP CLEANER	1 GAL		4	16.16	64.64	9/1/2021
HIL0012604	CITRIC EXTRA STRENGTH CSP CLEANER	QT		12	5.52	66.24	9/1/2021
HIL0012806	AFRC ACID FREE RESTROOM CLEANER	1 GAL		4	10.02	40.08	9/1/2021

	AFRC ACID FREE RESTROOM CLEANER	55 GAL	DR	9.41	517.46	9/1/2021
	AFRC ACID FREE RESTROOM CLEANER	15 GAL	PL	9.41	141.14	9/1/2021
	SHOWER ROOM CLEANER	1 GAL	4	15.66	62.64	9/1/2021
	CITRIC SHOWER FOAM	1 GAL	4	19.2	76.8	9/1/2021
	SHOWER FOAM	1 GAL	4	20.48	81.92	9/1/2021
	SHOWER FOAM	5 GAL	PL	20.08	100.41	9/1/2021
	SHOWER FOAM	55 GAL	DR	19.88	1093.58	9/1/2021
	NON-ACID RESTROOM DISINFECTANT CLEANER	1 GAL	4	19.89	79.56	9/1/2021
	TILE AND GROUT CLEANER/RENOVATOR	QT	12	3.61	43.32	9/1/2021
	TILE AND GROUT CLEANER/RENOVATOR	1 GAL	4	11.07	44.28	9/1/2021
HIL0047706		1 GAL	4	23.72	94.88	9/1/2021
HIL0096206	GREEN SELECT BATHROOM CLEANER	1 GAL	4	22.96	91.84	9/1/2021
	DISINFECTANTS					
HIL0012906	SANITIZER H-129	1 GAL	4	20.78	83.12	9/1/2021
	SANITIZER H-129	55 GAL	DR	20.1	1105.75	9/1/2021
	VET AND KENNEL DISINFECTANT	1 GAL	4	20.2	80.8	9/1/2021
HIL0016009	VET AND KENNEL DISINFECTANT	55 GAL	DR	19.48	1071.49	9/1/2021
HIL0016106		1 GAL	4	25.73	102.92	9/1/2021
HIL0016109	SUPROX-D	55 GAL	DR	25.09	1380.06	9/1/2021
HIL0016606	RE-JUV-NAL DISINFECTANT	1 GAL	4	14.66	58.64	9/1/2021
HIL0016607	RE-JUV-NAL DISINFECTANT	5 GAL	PL	14.26	71.29	9/1/2021
HIL0016609	RE-JUV-NAL DISINFECTANT	55 GAL	DR	14.06	773.34	9/1/2021
HIL0016706	Q.T. DISINFECTANT CLEANER	1 GAL	4	16.82	67.28	9/1/2021
HIL0016707	Q.T. DISINFECTANT CLEANER	5 GAL	PL	16.42	82.1	9/1/2021
HIL0016709	Q.T. DISINFECTANT CLEANER	55 GAL	DR	16.22	892.23	9/1/2021
HIL0016806	VINDICATOR + DISINFECTANT	1 GAL	4	24.11	96.44	9/1/2021
HIL0016906	DISINFECTANT QT PLUS	1 GAL	4	31.8	127.2	9/1/2021
HIL0016909	DISINFECTANT QT PLUS	55 GAL	DR	22.19	1220.42	9/1/2021
HIL0017906	HILLYARD LEMON DISINFECTANT	1 GAL	4	11.52	46.08	9/1/2021
HIL0017907	HILLYARD LEMON DISINFECTANT	5 GAL	PL	11.11	55.56	9/1/2021
HIL0017909	HILLYARD LEMON DISINFECTANT	55 GAL	DR	10.91	600.22	9/1/2021
HIL0018506	PINE-O-CIDE II DISINFECTANT	1 GAL	4	18.01	72.04	9/1/2021
HIL0018509	PINE-O-CIDE II DISINFECTANT	55 GAL	DR	17.41	957.54	9/1/2021
HIL0040606	SANITIZER H-129 GALLON WITH INSERT	1 GAL	4	22.77	91.08	9/1/2021
HIL0091906	SOFT SURFACE SANITIZER	1 GAL	4	23.44	93.76	9/1/2021

----- STRIPPERS

HIL0014706	DEVASTATOR	1 GAL	4	22.02	88.08	9/1/2021
HIL0014707	DEVASTATOR	5 GAL	PL	21.62	108.09	9/1/2021
HIL0014709	DEVASTATOR	55 GAL	DR	21.42	1178.07	9/1/2021
HIL0014906	ASSAULT STRIPPER	1 GAL	4	19.49	77.96	9/1/2021
HIL0014907	ASSAULT STRIPPER	5 GAL	PL	19.09	95.45	9/1/2021
HIL0014909	ASSAULT STRIPPER	55 GAL	DR	18.89	1038.95	9/1/2021
HIL0015006	POWER STRIP	4 GAL	CS		39.01	9/1/2021
HIL0015007	POWER STRIP	5 GAL	PL	9.31	46.54	9/1/2021
HIL0015009	POWER STRIP	55 GAL	DR	9.08	499.15	9/1/2021
HIL0015206	SUPER STRIP	4 GAL	CS		59.89	9/1/2021
HIL0015207	SUPER STRIP	5 GAL	PL	14.54	72.69	9/1/2021
HIL0015209	SUPER STRIP	55 GAL	DR	14.33	788.32	9/1/2021
HIL0096406	GREEN SELECT STRIPPER	1 GAL	4	21.49	85.96	9/1/2021
HIL0096407	GREEN SELECT STRIPPER	5 GAL	PL	21.1	105.48	9/1/2021
	SEAL & FINISH					
	TERRAZZINE	1 GAL	4	21.21	84.84	9/1/2021
	TERRAZZINE	5 GAL	PL	20.79	103.95	9/1/2021
HIL0034006		1 GAL	4	19.46	77.84	9/1/2021
HIL0034007	SEAL 340	5 GAL	PL	19.01	95.05	9/1/2021
HIL0034009		55 GAL	DR	18.8	1033.76	9/1/2021
HIL0034106		1 GAL	4	23.18	92.72	9/1/2021
HIL0034107		5 GAL	PL	22.78	113.9	9/1/2021
HIL0034109		55 GAL	DR	22.58	1241.74	9/1/2021
	HIL-TEX+ SEALER	1 GAL	N 4	16.88	67.52	9/1/2021
	HIL-TEX+ SEALER	5 GAL	N PL	16.39	81.95	9/1/2021
	HIL-TEX+ SEALER	55 GAL	N DR	16.14	887.74	9/1/2021
	STRONG GUARD SEAL	1 GAL	4	25.18	100.72	9/1/2021
	STRONG GUARD SEAL	5 GAL	PL	24.78	123.9	9/1/2021
	CONCRETE SEAL MEDIUM TRAFFIC MT	1 GAL	N 4	56.29	225.16	9/1/2021
	CONCRETE SEAL MEDIUM TRAFFIC MT	5 GAL	N PL	55.8	278.98	9/1/2021
	CONCRETE SEAL HEAVY TRAFFIC-CLEAR HTC	1 GAL	N 1	101.6	101.6	9/1/2021
HIL0049307	CONCRETE SEAL HEAVY TRAFFIC-CLEAR HTC	5 GAL	N PL	101.1	505.51	9/1/2021

HIL0049906	CONCRETE DEFENSE LT	1 GAL	N 4	43.06	172.24	9/1/2021
HIL0049907	CONCRETE DEFENSE LT	5 GAL	N PL	42.56	212.8	9/1/2021
HIL0050006	CONCRETE SEAL HEAVY TRAFFIC-GRAY HTG	1 GAL	N 1	110.32	110.32	9/1/2021
HIL0050007	CONCRETE SEAL HEAVY TRAFFIC-GRAY HTG	5 GAL	N PL	109.82	549.11	9/1/2021
HIL0050106	CONCRETE PRIMER	1 GAL	N 4	44.1	176.4	9/1/2021
HIL0050107	CONCRETE PRIMER	5 GAL	N PL	43.6	218.01	9/1/2021
HIL0051906	RESILIENCE NEW AND IMPROVED	1 GAL	4	19.32	77.28	9/1/2021
HIL0051907	RESILIENCE NEW AND IMPROVED	5 GAL	PL	18.93	94.64	9/1/2021
HIL0052206	TOP SHAPE	1 GAL	N 4	15.79	63.16	9/1/2021
HIL0052207	TOP SHAPE	5 GAL	N PL	15.29	76.45	9/1/2021
HIL0052209	TOP SHAPE	55 GAL	N DR	15.04	827.27	9/1/2021
HIL0052406	DISCOVERY 20	1 GAL	N 4	17.72	70.88	9/1/2021
HIL0052407	DISCOVERY 20	5 GAL	N PL	17.23	86.13	9/1/2021
HIL0052409	DISCOVERY 20	55 GAL	N DR	16.58	911.9	9/1/2021
HIL0052506	ENDEAVOUR	1 GAL	4	21.45	85.8	9/1/2021
HIL0052507	ENDEAVOUR	5 GAL	PL	21.07	105.33	9/1/2021
HIL0052509	ENDEAVOUR	55 GAL	DR	20.87	1147.62	9/1/2021
HIL0052706	ONE PLUS ZINC FREE FINISH	1 GAL	4	20.44	81.76	9/1/2021
HIL0052707	ONE PLUS ZINC FREE FINISH	5 GAL	PL	20.03	100.16	9/1/2021
HIL0052709	ONE PLUS ZINC FREE FINISH	55 GAL	DR	19.85	1091.77	9/1/2021
HIL0052806	NORTH STAR	1 GAL	4	23.63	94.52	9/1/2021
HIL0052807	NORTH STAR	5 GAL	PL	23.22	116.1	9/1/2021
HIL0052809	NORTH STAR	55 GAL	DR	23.02	1266.19	9/1/2021
HIL0053206	EXPEDITER	1 GAL	4	24.3	97.2	9/1/2021
HIL0053207	EXPEDITER	5 GAL	PL	23.86	119.28	9/1/2021
HIL0053209	EXPEDITER	55 GAL	DR	23.63	1299.81	9/1/2021
HIL0053406	EXPLORER	1 GAL	4	19.32	77.28	9/1/2021
HIL0053407	EXPLORER	5 GAL	PL	18.88	94.41	9/1/2021
HIL0053409	EXPLORER	55 GAL	DR	18.67	1026.6	9/1/2021
HIL0053606	NAVIGATOR	1 GAL	4	19.81	79.24	9/1/2021
HIL0053607	NAVIGATOR	5 GAL	PL	19.41	97.03	9/1/2021
HIL0053609	NAVIGATOR	55 GAL	DR	19.21	1056.43	9/1/2021
HIL0054106	SATIN FLOOR FINISH	1 GAL	N 4	30.53	122.12	9/1/2021
HIL0055106	EP-22	1 GAL	4	23.78	95.12	9/1/2021
HIL0055107	EP-22	5 GAL	PL	23.39	116.94	9/1/2021
HIL0055109	EP-22	55 GAL	DR	23.19	1275.38	9/1/2021
HIL0055306	EQUALIZER NEW AND IMPROVED	1 GAL	4	30.7	122.8	9/1/2021

	EQUALIZER NEW AND IMPROVED EQUALIZER NEW AND IMPROVED MULTI FLO XP FLOOR FINISH COMPLETE	5 GAL 55 GAL	PL DR N	30.29 30.1 982.61	151.47 1655.25 982.61	9/1/2021
	RESTORERS					
HIL0053306	HIL-GLO	1 GAL	4	16.7	66.8	9/1/2021
HIL0053804	H.R. 2000	QT	12	6.55	78.6	9/1/2021
HIL0053806	H.R. 2000	1 GAL	4	18.12	72.48	9/1/2021
HIL0053904	RESTORER	QT	12	7.15	85.8	9/1/2021
HIL0053906	RESTORER	1 GAL	4	17.74	70.96	9/1/2021
HIL0053907	RESTORER	5 GAL	PL	17.33	86.67	9/1/2021
HIL0053909	RESTORER	55 GAL	DR	17.14	942.52	9/1/2021
	CARPET					
	CAREI					
HIL0018304	DEFOAMER II	QT	12	6.23	74.76	9/1/2021
HIL0018306	DEFOAMER II	1 GAL	4	20.47	81.88	9/1/2021
HIL0090069	CARPET SPOTTING KIT	1.75 GAL	N EA		78.83	9/1/2021
HIL0090206	CLEAN ACTION II	1 GAL	4	15.59	62.36	9/1/2021
HIL0090207	CLEAN ACTION II	5 GAL	PL	15.2	76.01	9/1/2021
HIL0090209	CLEAN ACTION II	55 GAL	DR	15	825.1	9/1/2021
HIL0090506	CLEAN RELEASE	1 GAL	4	18.71	74.84	9/1/2021
HIL0090704	CARPET DEBROWNER II	QT	12	5.93	71.16	9/1/2021
HIL0090904	CARPET SPOTTER GEL	QT	12	5.25	63	9/1/2021
HIL0091004	CARPET SPOTTER	QT	12	4.74	56.88	9/1/2021
HIL0091006	CARPET SPOTTER	1 GAL	4	11.58	46.32	9/1/2021
HIL0091104	RUST SPOTTER GEL	QT	12	6.26	75.12	9/1/2021
HIL0091204	LIQUID GUM-GO	QT	12	14.99	179.88	9/1/2021
HIL0091406	HD EXTRACTION	1 GAL	4	17.14	68.56	9/1/2021
HIL0091409	HD EXTRACTION	55 GAL	DR	16.55	910.09	9/1/2021
HIL0091606	CARPET ANTI-STAT	1 GAL	N 4	14.53	58.12	9/1/2021
HIL0091609	CARPET ANTI-STAT	55 GAL	N DR	13.79	758.4	9/1/2021
HIL0091806	DEEP ACTION	1 GAL	4	21.01	84.04	9/1/2021
HIL0091807	DEEP ACTION	5 GAL	PL	20.61	103.06	9/1/2021
HIL0091809	DEEP ACTION	55 GAL	DR	20.41	1122.69	9/1/2021
HIL0092106	DEEP ACTION UNSCENTED	1 GAL	4	16.04	64.16	9/1/2021

HIL0092206 CLEAN ACTION II UNSCENTED	1 GAL	4	15.86		9/1/2021
HIL0092706 SOIL-STOP	1 GAL	4	57.43		9/1/2021
HIL0093006 EXTRACTION PH RINSE	1 GAL	4	21.25	85	
HIL0093285 DOUBLE DOWN CARPET SPOTTER 6		6			9/1/2021
HIL0096506 CARPET PRE-SPRAY	1 GAL	4	14.03		9/1/2021
HIL0104069 DOUBLE DOWN STARTER KIT W TRI	GGER HEAD GAL	N		66.02	9/1/2021
HIL0104070 DOUBLE DOWN REFILL CARTRIDGES	i de la companya de l	N 8	9.43	75.44	9/1/2021
ARSENAL I					
HIL0080125 ARSENAL 1 ASSURANCE	0.66 GAL	4	24.31		9/1/2021
HIL0080225 ARSENAL 1 WINDO-CLEAN+	0.66 GAL	4	22.44	89.76	9/1/2021
HIL0080325 ARSENAL 1 HARMONY AIR FRESHEN	ER 0.66 GAL	4	23.28	93.12	9/1/2021
HIL0080425 ARSENAL 1 COUNTRY GARDEN AIR F	RESHENER 0.66 GAL	4	22.99	91.96	9/1/2021
HIL0080525 ARSENAL 1 RESTROOM CLEANER	0.66 GAL	4	19.4	77.6	9/1/2021
HIL0080625 ARSENAL 1 VINDICATOR+	0.66 GAL	4	27.46	109.84	9/1/2021
HIL0080725 ARSENAL 1 CLEAN ACTION II	0.66 GAL	4	14.95	59.8	9/1/2021
HIL0080825 ARSENAL 1 SUPER SHINE-ALL	0.66 GAL	4	20.1	80.4	9/1/2021
HIL0080925 ARSENAL 1 HEAVY DUTY FLOOR CLE	ANER 0.66 GAL	4	22.5	90	9/1/2021
HIL0081025 ARSENAL 1 TOP CLEAN	0.66 GAL	4	25.41	101.64	9/1/2021
HIL0081125 ARSENAL 1 RESTROOM CLEANER DI	SINFECTANT 0.66 GAL	4	22.61	90.44	9/1/2021
HIL0081325 ARSENAL 1 BONNET CLEANER	0.66 GAL	4	23.52	94.08	9/1/2021
HIL0081425 ARSENAL 1 CARPET PRE-SPRAY	0.66 GAL	4	22.13	88.52	9/1/2021
HIL0081525 ARSENAL 1 CARPET SPOTTER	0.66 GAL	4	21.53	86.12	9/1/2021
HIL0081625 ARSENAL 1 RE-JUV-NAL	0.66 GAL	4	14.03	56.12	9/1/2021
HIL0081825 ARSENAL 1 NEUTRALIZER	0.66 GAL	4	27.75	111	9/1/2021
HIL0081925 ARSENAL 1 NON-ACID RR DISINFEC	CLNR 0.66 GAL	4	14.26	57.04	9/1/2021
HIL0082125 ARSENAL 1 TYPHOON	0.66 GAL	4	26.65	106.6	9/1/2021
HIL0082225 ARSENAL 1 CITRUS-SCRUB	0.66 GAL	4	27.96	111.84	9/1/2021
HIL0082325 ARSENAL 1 RESTORER	0.66 GAL	4	17.97	71.88	9/1/2021
HIL0082425 ARSENAL 1 Q.T. PLUS	0.66 GAL	4	22.77	91.08	9/1/2021
HIL0082525 ARSENAL 1 SANITIZER	0.66 GAL	4	16.64	66.56	9/1/2021
HIL0082725 ARSENAL 1 GREEN SELECT GLASS CL	EANER 0.66 GAL	4	18.47	73.88	9/1/2021
HIL0082825 ARSENAL 1 GREEN SELECT DEGREAS	ER CLNR 0.66 GAL	4	18.78	75.12	9/1/2021
HIL0082925 ARSENAL 1 GREEN SELECT BATHROO	DM CLEANER 0.66 GAL	4	17.09		9/1/2021
HIL0083225 ARSENAL 1 SUPROX-D	0.66 GAL	4	22.08		9/1/2021
HIL0083425 ARSENAL 1 RECOAT PREP	0.66 GAL	4	19.62		9/1/2021

HIL0083525	ARSENAL 1 CARPET PH RINSE	0.66 GAL	4	20.29	81.16	9/1/2021
HIL0083725	ARSENAL 1 SUPROX HEAVY DUTY	0.66 GAL	4	19.62	78.48	9/1/2021
HIL0083825	ARSENAL 1 SUPROX-MULTI PURPOSE CLEANER	0.66 GAL	4	19.62	78.48	9/1/2021
HIL0083925	ARSENAL 1 SUPROX-FLOOR & GLASS CLEANER	0.66 GAL	4	19.62	78.48	9/1/2021
HIL0084025	ARSENAL 1 DEGREASER HEAVY DUTY	0.66 GAL	4	19.32	77.28	9/1/2021
	ARSENAL 1 DEGREASER LIGHT DUTY	0.66 GAL	4	19.32	77.28	9/1/2021
HIL0084225	ARSENAL 1 ROBUSTO	0.66 GAL	4	19.62	78.48	9/1/2021
HIL0084325	ARSENAL 1 QT 3 DISINFECTANT	0.66 GAL	4	55.64	222.56	
HIL0084425	ARSENAL 1 CLEAN SCRUB HD	0.66 GAL	4	26.65	106.6	9/1/2021
HIL0182025	ARSENAL 1 SPRAY CLEAN HD	0.66 GAL	4	39.89	159.56	9/1/2021
	ARSENAL QT/BUDDY JUG					
HIL0080104	ARSENAL ASSURANCE HD SPRAY & WIPE CL	QT	12	5.46	65.52	9/1/2021
HIL0080204	ARSENAL WINDO-CLEAN+	QT	12	6.8	81.6	9/1/2021
HIL0080304	ARSENAL HARMONY AIR FRESHENER	QT	12	6.3	75.6	9/1/2021
HIL0080404	ARSENAL COUNTRY GARDEN AIR FRESHENER	QT	12	6.11	73.32	9/1/2021
HIL0080504	ARSENAL RESTROOM CLEANER	QT	12	6.68	80.16	9/1/2021
HIL0081117	ARSENAL RESTROOM CLNR/DISINFECT 20 OZ	CS	12	6.16	73.92	9/1/2021
HIL0081404	ARSENAL CARPET PRE-SPRAY	QT	12	5.94	71.28	9/1/2021
	ARSENAL PACKETS					
HIL0080191	ARSENAL ASSURANCE HD SPRAY & WIPE CL	CS			51.5	9/1/2021
HIL0080291	ARSENAL WINDO-CLEAN+ 1.5 OZ POUCH	CS			51.19	9/1/2021
	ARSENAL COUNTRY GARDEN AIR FRESHENER	CS			48.95	9/1/2021
HIL0080591	ARSENAL RESTROOM CLNR 1.5 OZ POUCH 72/CS	CS			74.12	9/1/2021
	ARSENAL VINDICATOR+ 1 OZ POUCH 72/CS	CS			45.89	9/1/2021
HIL0080695	ARSENAL VINDICATOR+ 2.5 OZ POUCH 54/CS	CS	CS		63.46	9/1/2021
HIL0080892	ARSENAL SUPER SHINE-ALL 2 OZ POUCH 72/CS	CS	CS			9/1/2021
	ARSENAL SUPER SHINE-ALL 4 OZ POUCH 36/CS	CS	CS			9/1/2021
HIL0080992	ARSENAL HD FLOOR CLEANER 2 OZ POUCH	CS	CS		54.45	9/1/2021
HIL0080994	ARSENAL HD FLOOR CLEANER 4 OZ POUCH 36/C	CS	CS			9/1/2021
	ARSENAL TOP CLEAN 1 OZ POUCH 72/CS	CS				9/1/2021
	ARSENAL TOP CLEAN 2 OZ POUCH 72/CS	CS	CS			9/1/2021
	ARSENAL LEMON DISINFECTANT 1 OZ POUCH	CS				9/1/2021
HIL0081689	ARSENAL RE-JUV-NAL 1 OZ POUCH 72/CS	CS			41.03	9/1/2021

HIL0081694 ARSENAL RE-JUV-NAL 4 OZ POUCH 36/CS HIL0081894 ARSENAL NEUT CARPT RINSE 4 OZ POUCH 36/C HIL0081989 ARSENAL NON-ACID RR DIS CLNR 1 OZ 72/CS	CS CS CS	CS CS		60.2	9/1/2021 9/1/2021 9/1/2021
ARSENAL II					
HIL0080909 ARSENAL HEAVY DUTY FLOOR CLEANER	55 GAL	DR	34.28	1885.49	9/1/2021
HIL0082607 ARSENAL STRIPPER	5 GAL	PL	26.66	133.28	9/1/2021
HIL0082609 ARSENAL STRIPPER	55 GAL	DR	29.75	1636.12	9/1/2021
HIL0082629 ARSENAL STRIPPER 1/2 GAL-6/CS	6 Per	CS		138.07	9/1/2021
ARSENAL GREEN SELECT					
HIL0082791 ARSENAL GREEN SELECT GLASS CLNR 1.5 OZ	CS			49.09	9/1/2021
HIL0082904 ARSENAL GREEN SELECT BATHROOM CLEANER	QT	12	6.58	78.96	9/1/2021
HIL0182889 ARSENAL GREEN SELECT DEGR CLNR 10Z 72 CS	CS			45.44	9/1/2021
ENZYMES/ODOR CONTROL					
HIL0018604 LEMON ODOR COUNTERACTANT	QT	12	5.25	63	9/1/2021
HIL0018606 LEMON ODOR COUNTERACTANT	1 GAL	4	20.67	82.68	9/1/2021
HIL0018704 HERBAL ODOR COUNTERACTANT	QT	12	5.59	67.08	9/1/2021
HIL0018706 HERBAL ODOR COUNTERACTANT	1 GAL	4	20.02	80.08	9/1/2021
HIL0018806 HARMONY AIR FRESHENER	1 GAL	4	19.58	78.32	9/1/2021
HIL0046604 TAKE DOWN CHERRY	QT	12	7.64	91.68	9/1/2021
HIL0046606 TAKE DOWN CHERRY	1 GAL	4	20.89	83.56	9/1/2021
HIL0046704 TAKE DOWN GREEN APPLE	QT	12	7.65	91.8	9/1/2021
HIL0046706 TAKE DOWN GREEN APPLE	1 GAL	4	20.67	82.68	9/1/2021
HIL0046804 TAKE DOWN FRESH & CLEAN	QT	12	7.61	91.32	9/1/2021
HIL0046806 TAKE DOWN FRESH & CLEAN	1 GAL	4	20.37	81.48	9/1/2021
HIL0046809 TAKE DOWN FRESH & CLEAN	55 GAL	DR	19.78	1087.99	9/1/2021
HIL0046906 LIQUID TRAP SHOOTER	1 GAL	4	17.17	68.68	9/1/2021
HIL0046907 LIQUID TRAP SHOOTER	5 GAL	PL	16.78	83.92	9/1/2021
HIL0046909 LIQUID TRAP SHOOTER	55 GAL	DR	16.58	912.13	9/1/2021
HIL0047006 LIQUID ENZYME II	1 GAL	4	11.73	46.92	9/1/2021
HIL0047007 LIQUID ENZYME II	5 GAL	PL	11.34	56.69	9/1/2021
HIL0047009 LIQUID ENZYME II	55 GAL	DR	11.14	612.67	9/1/2021

HIL0047015	LIQUID ENZYME II	15 GAL	EA		167.1	9/1/2021
	I-FORCE (Industrial)					
HIL0013706	I-FORCE KA INDUSTRIAL DEGREASER	1 GAL	4	16.01	64.04	9/1/2021
HIL0013707	I-FORCE KA INDUSTRIAL DEGREASER	5 GAL	PL	15.56	77.81	9/1/2021
HIL0013709	I-FORCE KA INDUSTRIAL DEGREASER	55 GAL	N DR	12.97	713.5	9/1/2021
HIL0013711	I-FORCE KA INDUSTRIAL DEGREASER	275 GAL	N TOT	12.53	3444.67	9/1/2021
HIL0013728	I-FORCE KA INDUSTRIAL DEGREASER	30 GAL	N EA		437.83	9/1/2021
HIL0041301	SOAP INDUST CITRUS HAND WASH 2LTR 4/CS	2.11 GAL	N CS		79.43	9/1/2021
HIL0041344	SOAP INDUST CITRUS HAND WASH 40Z 12/CS	0.03 GAL	N 12		19.8	9/1/2021
HIL0041401	SOAP INDUSTRIAL CHERRY GEL 2LTR 4/CS	2.11 GAL	N CS		74.46	9/1/2021
HIL0041444	SOAP INDUST CHERRY HAND WASH 40Z 12/CS	0.03 GAL	N 12		19.8	9/1/2021
HIL0041501	SOAP INDUST NATURAL HAND WASH 2LTR 4/CS	2.11 GAL	N CS		79.43	9/1/2021
HIL0041544	SOAP INDUST NATURAL HAND WASH 4OZ 12/CS	0.03 GAL	N 12		19.8	9/1/2021
HIL0041601	SOAP INDUST HVY DUTY HAND WASH 2LTR 4/CS	2.11 GAL	N CS		79.43	9/1/2021
HIL0041644	SOAP INDUST HVY DUTY HAND WASH 40Z 12/CS	0.31 GAL	N 12		19.8	9/1/2021
HIL0041701	SOAP IND HVY DUTY HND WASH/PUM 2LTR4/CS	2.11 GAL	N CS		79.43	9/1/2021
HIL0041744	SOAP INDUST HEAVY DUTY W/PUMICE 40Z 12/C	0.03 GAL	N 12		19.8	9/1/2021
HIL0045407	DEFCON 2-R SUPER CONC INDUST DEGREASER	5 GAL	N PL	49.64	248.19	9/1/2021
HIL0045447	DEFCON-2D SUPER CON 2.5 GAL 2 Per CS	5 GAL	CS		202.54	9/1/2021
HIL0045509	DEFCON 2 INDUSTRIAL DEGREASER	55 GAL	N DR	9.03	496.39	9/1/2021
HIL0047406	I-FORCE D.M.B. DESCALER METAL BRIGHTENER	1 GAL	4	20.55	82.2	9/1/2021
HIL0047409	I-FORCE D.M.B. DESCALER METAL BRIGHTENER	55 GAL	N DR	22.1	1215.32	9/1/2021
HIL0047809	I-FORCE GS-200	55 GAL	N DR	14.94	821.74	9/1/2021
HIL0047907	I-FORCE CV-PRO	5 GAL	PL	9.91	49.56	9/1/2021
HIL0047909	I-FORCE CV-PRO	55 GAL	N DR	10.77	592.48	9/1/2021
HIL0048106	I-FORCE L.F.D.	1 GAL	4	12	48	9/1/2021
HIL0048109	I-FORCE L.F.D.	55 GAL	N DR	10.59	582.54	9/1/2021
HIL0048306	I-FORCE I.D. 200	1 GAL	4	12.71	50.84	9/1/2021
HIL0048307	I-FORCE I.D. 200	5 GAL	PL	12.22	61.1	9/1/2021
HIL0048309	I-FORCE I.D. 200	55 GAL	N DR	10.74	590.65	9/1/2021
HIL0048311	I-FORCE I.D. 200	275 GAL	N EA		2907.73	9/1/2021
HIL0048328	I-FORCE I.D. 200	30 GAL	N EA		322.19	9/1/2021
HIL0048706	I FORCE SM 1 DEGREASER	1 GAL	4	15.94	63.76	9/1/2021
HIL0048709	I FORCE SM 1 DEGREASER	55 GAL	DR	13.21	726.78	9/1/2021
HIL0048772	I FORCE SM 1 DEGREASER	5 GAL	PL	15.53	77.66	9/1/2021

HIL99724	DEFCON 2D DISPENSING KIT		Ν		142.86	142.86	9/1/2021
	READY-TO-USE						
HIL0100204	GLASS & PLASTIC CLEANER	QT		12	3.06	36.72	9/1/2021
HIL0100404	QUICK & CLEAN LUSTRE-MIST FURN POLISH	QT	Ν	12	5.55	66.6	9/1/2021
HIL0100407	QUICK & CLEAN LUSTRE-MIST FURN POLISH	5 GAL	NF	PL	16.92	84.6	9/1/2021
HIL0100504	QUICK & CLEAN CITRUS-SCRUB	QT	Ν	12	6.32	75.84	9/1/2021
HIL0100604	KA INDUSTRIAL DEGREASER RTU	QT		12	3.79	45.48	9/1/2021
HIL0100609	KA INDUSTRIAL DEGREASER RTU	55 GAL	[DR	11.28	620.5	9/1/2021
HIL0100804	OVEN & GRILL CLEANER	QT		12	4.32	51.84	9/1/2021
HIL0100904	AFRC ACID-FREE RESTROOM CLEANER	QT		12	2.53	30.36	9/1/2021
HIL0101104	QUICK & CLEAN QT-TB	QT		12	3.71	44.52	9/1/2021
HIL0101204	QUICK & CLEAN COUNTRY GARDN AIR FRESHNER	QT	Ν	12	3.72	44.64	9/1/2021
HIL0101304	QUICK & CLEAN VANILLA AIR FRESHENER	QT	Ν	12	5.16	61.92	9/1/2021
HIL0101404	LIQUID ENZYME II	QT		12	4.14	49.68	9/1/2021
HIL0101504	HIL-GLO	QT		12	5.63	67.56	9/1/2021
HIL0101604	SUPER HIL-TONE	QT		12	8.29	99.48	9/1/2021
HIL0101704	QUICK & CLEAN FLORAL AIR FRESHENER	QT	Ν	12	4.98	59.76	9/1/2021
HIL0101804	SPRAY CLEAN HD	QT		12	3.82	45.84	9/1/2021
HIL0101904	GERMICIDAL FOAMING CLEANER	QT		12	4.8	57.6	9/1/2021
HIL0101928	GERMICIDAL FOAMING CLEANER	30 GAL	E	A		489.06	9/1/2021
HIL0102204	BASEBOARD STRIPPER GEL	QT		12	6.85	82.2	9/1/2021
HIL0102304	SUPROX READY TO USE QT	QT	Ν	12	4.11	49.32	9/1/2021
	HAND SOAP						
HIL0036403	SOAP AFFINITY HAIR & BODY 1250ML 4CS	4 CS	C	CS		36.05	9/1/2021
HIL0036406	SPORT AND SPA HAIR AND BODY WASH	1 GAL	Ν	4	16.02	64.08	9/1/2021
HIL0036412	SOAP LIQUID HAIR AND BODY WASH 2L 4CS	2.11 GAL	0	CS		53.62	9/1/2021
HIL0037706	GREEN SELECT LIQUID HAND SOAP	1 GAL	Ν	4	11.93	47.72	9/1/2021
HIL0039002	SOAP AFFINITY TF GS FOAM 1L 3CS	0.79 CS				47.34	9/1/2021
HIL0039003	SOAP AFFINITY GS FOAMING HAND 1250ML 4CS	4 CS	0	CS		42.7	9/1/2021
HIL0039006	GREEN SELECT FOAMING HAND SOAP	1 GAL	Ν	4	11.9	47.6	9/1/2021
HIL0039082	GREEN SELECT FOAMING HAND SOAP 14 OZ	CS	Ν	6		47.94	9/1/2021
HIL0039103	SOAP AFFINITY HAIR&BODY FOAM 1250ML 4CS	4 CS	0	CS		46.81	9/1/2021
HIL0039106	FOAMING HAIR AND BODY WASH	1 GAL	Ν	4	18.01	72.04	9/1/2021

HIL0039112	SOAP FOAMING HAIR AND BODY 2L 4CS	2.11 GAL		CS			60.85	9/1/2021
HIL0039306	FOAMING CARIBBEAN SENSATION HAND SOAP	1 GAL	Ν		4	12.22	48.88	9/1/2021
	SOAP AFFINITY TF MANDRN CRAN PREM 1L 3CS	0.79 CS					52.88	9/1/2021
HIL0039403	SOAP AFFINITY FOAM MAND CRAN 1250ML 4 CS	4 CS		CS			47.7	9/1/2021
HIL0039406	MANDARIN-CRANBERRY PREMIUM FOAM SOAP	1 GAL	Ν		4	19.94	79.76	9/1/2021
HIL0039412	SOAP FOAM MANDARIN CRANBERRY 2LTR 4/CS	2.11 GAL		CS			62.03	9/1/2021
	MANDARIN-CRANBERRY PREM FOAM SOAP 14 OZ	CS	Ν		6		47.94	9/1/2021
HIL0039606	PINK PEARL HAND SOAP	1 GAL	Ν		4	9.16	36.64	9/1/2021
	PINK PEARL HAND SOAP	55 GAL	Ν	DR		8.43	463.41	9/1/2021
	WHITE PEARL HAND SOAP	1 GAL	Ν		4	9.76	39.04	9/1/2021
	WHITE PEARL HAND SOAP	55 GAL	Ν	DR		9.02	495.98	9/1/2021
	SOAP AFFINITY TF CUCMBR MELON FM 1L 3CS	0.79 CS					52.88	9/1/2021
	SOAP AFFINITY FOAM CUC MELON 1250ML 4 CS	4 CS		CS			47.7	9/1/2021
	CUCUMBER-MELON PREMIUM FOAM SOAP	1 GAL	Ν		4	19.4	77.6	9/1/2021
	SOAP FOAM CUCUMBER MELON 2LTR 4/CS	2.11 GAL		CS			62.03	9/1/2021
	CUCUMBER-MELON PREM FOAM SOAP 14 OZ	CS	Ν		6		47.94	9/1/2021
HIL0040202	SANITIZER AFFINITY IHS GEL 1L 3CS	0.79 CS					53.74	9/1/2021
	SANITIZER AFFINITY IHS GEL 1000ML 4CS	4 CS		CS			48.48	9/1/2021
	SANITIZ AFFINITY TF ALC FREE FOAM 1L 3CS	0.79 CS					48.18	9/1/2021
	SANITIZER AFFINITY IHS ALC FR 1250ML 4CS	4 CS		CS			43.48	9/1/2021
HIL0040382	FOAMING ALCOH FREE INST HAND SANI 14 OZ	CS	Ν		6		47.94	9/1/2021
HIL0040403	SOAP AFFINITY PINK LOTION 1250ML 4 CS	4 CS		CS			34.22	9/1/2021
	SOAP PINK LOTION HAND	1 GAL	Ν		4	13.48	53.92	9/1/2021
	SOAP AFFINITY TF ANTIMIC FM CIT 3/1000ML	0.79 CS					50.15	9/1/2021
	SOAP AFFINITY CIT ANTIMIC FM 1250ML/4CS	4 CS		CS			50.15	9/1/2021
	SOAP ANTIMICROBIAL FOAM CITRUS	1 GAL	Ν		4	16.51	66.04	9/1/2021
	SOAP FOAM ANTIMIC CITRUS FRESH 2LTR 4/C	2.11 GAL		CS			60.76	9/1/2021
	SOAP CIT ANTIMIC FOAM 14 OZ 6/CS	CS	Ν		6		45.66	9/1/2021
	SANITIZER AFFINITY TF IHS FOAM 1L 3CS	0.79 CS					72.27	9/1/2021
	SANITIZER AFFINITY FOAMING 1000ML 4CS	4 CS		CS			65.2	9/1/2021
	FOAMING INSTANT HAND SANITIZER GAL CS/4	4 GAL		CS			106.32	9/1/2021
	FOAMING INSTANT HAND SANITIZER 14 OZ	CS	Ν		6		47.94	9/1/2021
	SOAP AFFINITY TF PREMIUM GREEN 1L 3CS	0.79 CS					52.88	9/1/2021
	SOAP AFFINITY GREEN PREM FOAM 1250ML/4CS	4 CS		CS			47.7	9/1/2021
	SOAP FOAM PREMIUM GREEN 2LTR 4/CS	2.11 GAL		CS			62.03	9/1/2021
	TILE & GROUT SEAL	QT		1	2	13.57	162.84	9/1/2021
HIL0047606	TILE & GROUT SEAL	1 GAL			4	47.53	190.12	9/1/2021

HIL0049706 REPEL HIL0049709 REPEL HIL0049733 REPEL 2.5 G/	AL	1 GAL 55 GAL 2.5 GAL	N N I N I		30.67 29.9	1644.32	9/1/2021 9/1/2021 9/1/2021
SPECIALTY C	OATING						
HIL0021606 NEUTONE D	RESSING	1 GAL	Ν	6	39.39	236.34	9/1/2021
HIL0031506 ONEX-SEAL I	1	1 GAL	Ν	6	40.78	244.68	9/1/2021
HIL0031507 ONEX-SEAL I	1	5 GAL	N	PL	39.63		9/1/2021
SPECIALTY							
HIL00090 ZIZ-O PASTE	CLEANER 1 LB TUB 24CS		Ν	24	5.36	128.64	9/1/2021
HIL0021306 HIL-MIST DU	IST MOP DRESSING	1 GAL	Ν	4	16.11	64.44	9/1/2021
HIL0021506 SUPER HIL-T	ONE	1 GAL		4	26.24	104.96	9/1/2021
HIL0021507 SUPER HIL-T	ONE	5 GAL	I	PL	25.84	129.21	9/1/2021
HIL0021509 SUPER HIL-T		55 GAL	I	DR	25.64	1410.34	9/1/2021
HIL0021904 NUTRA-RINS		QT		12	6.04	72.48	9/1/2021
HIL0021906 NUTRA-RINS	ε	1 GAL		4	17.93	71.72	9/1/2021
HIL0021907 NUTRA-RINS	_	5 GAL	I	PL	17.54	87.68	9/1/2021
HIL0021909 NUTRA-RINS	-	55 GAL	I	DR	17.34	953.63	9/1/2021
HIL0029906 CLEAN SCRU		1 GAL		4	16.67	66.68	9/1/2021
HIL0029909 CLEAN SCRU		55 GAL	I	DR	16.08	884.6	9/1/2021
HIL0037406 HAND DISH		1 GAL		4	14.15	56.6	9/1/2021
HIL0037407 HAND DISH		5 GAL		PL	13.69	68.43	9/1/2021
HIL0037409 HAND DISH		55 GAL		DR	13.45	740.01	9/1/2021
HIL0041203 LOTION HAN	-	4 CS		CS		42.36	9/1/2021
HIL0045906 LAUNDRY DE		1 GAL	Ν	4	22.75	91	9/1/2021
HIL0047206 OVEN AND G	GRILL CLEANER	4 GAL		CS		38.9	9/1/2021
HIL0047209 OVEN AND O		55 GAL	I	DR	9.13	502.1	9/1/2021
HIL0093485 LAUNDRY SP	OTTER 6/32OZ	CS		6		85.14	9/1/2021
CONNECT							
HIL0060525 CONNECT SP		0.66 GAL	Ν	4	21.84		9/1/2021
	DAMING RESTROOM CLEANER	0.66 GAL		4	17.53	70.12	9/1/2021
HIL0061325 CONNECT SU	JPER SHINE-ALL	0.66 GAL		4	12.96	51.84	9/1/2021

HIL99608 HIL99611	CONNECT KIT CONNECT FOAMER ATTACHMENT		N N		26.5 2.14	26.5 2.14	9/1/2021 9/1/2021
	CLEANING COMPANION						
HIL007002	2 CC CARPET PRE-SPRAY 1/2 GAL	0.5 GAL		6	14.27	85.62	9/1/2021
HIL007022	2 CC MARINER 1/2 GAL	0.5 GAL		6	13.44	80.64	9/1/2021
HIL007032	2 CC NON-ACID REST DISINF/CLNR 1/2 GAL	0.5 GAL		6	12.08	72.48	9/1/2021
HIL007042	2 CC SUPROX 1/2 GAL	0.5 GAL	Ν	6	13.69	82.14	9/1/2021
HIL007052	2 CC RE-JUV-NAL 1/2 GAL	0.5 GAL		6	11.78	70.68	9/1/2021
HIL007062	2 CC TOP CLEAN 1/2 GAL	0.5 GAL		6	10.46	62.76	9/1/2021
HIL007072	2 CC SHOWER ROOM CLEANER 1/2 GAL	0.5 GAL		6	12.28	73.68	9/1/2021
HIL007082	2 CC GREEN SELECT BATHROOM CLNR 1/2 GAL	0.5 GAL		6	12.65	75.9	9/1/2021
HIL007102	2 CC SM-1 DEGREASER 1/2 GAL	0.5 GAL		6	10.56	63.36	9/1/2021
HIL007122	2 CC GREEN SELECT GLASS CLEANER 1/2 GAL	0.5 GAL		6	12.75	76.5	9/1/2021
HIL007142	2 CC SUPROX-D 1/2 GAL	0.5 GAL		6	18.59	111.54	9/1/2021
HIL007152	2 CC NUTRA-RINSE	0.5 GAL		6	17.13	102.78	9/1/2021
HIL99240	C3XP RECOVERY SYSTEM WITH TOOLS		Ν		461.21	461.21	9/1/2021

ATTACHMENT IV to Contract No. E00048 Fellowes Discounts



Aeramax Professional Air Purifiers

Pur-O-Zone Inc.

Mark McFarland 316-644-2223 cell

mmcfarland@purozone.com

Unit Volume Levels mix and match for total	Discount from list price	Replacement filter discount *
1	48%	25%
50	52%	33%
100	56%	35%
250	58%	40%
500	60%	43%

* Filter discount based on total # of units purchased